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Distance formula

d = \/(562 —21)* + (y2 — y1)?

d = distance

(1'1, Z/1) = coordinates of the first point

(1‘2, yQ) = coordinates of the second point
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Protocol when checking HW

Keep your HW out so, if | walk around, | can
[ook af if.

[£ you did not do it, | expect to see a O written

on your recording sheet before | get fo your

desk.

>
Any questions on VST
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Go. Civ we hove two ways of
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Complete the Square when a # 1
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After you turn in your LCQ, check
HW solutions and then return the
solutions.

Assignment
2-...50bd , 59-63
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